3.3WS

Tuesday, October 25, 2011
10:06 PM

1inas High J‘[‘\. N

b 3 Order of Operatlons
\\ Up:

BEDNMIAS (Brackets, Exponents, Division, Multiplication, Addition, Subtraction)

In the expression 5x 3" , 5 represent the C o tlcverst . 3represents the lbase and 4 represents the
Cxporent

1. Evaluate each expression. Show your work

a)s56= S(a¥ = \35 b)6(=5) = (RS = 150
9429= 4 (- 1) =

- 64 ) T@) = =3 (ex) = — 443

2. Write each expression, using @ coeificientand a power. Then, find the value of each expression. Show
your work.

A)4x3x3x3 = L\(%‘)

s
b)S x (-2)% (:2)x (:2)x (2) % (-2) = S(-2)
= 4 (a3 = SC¢3y
= log = Tlee
¢)-1x10x10x 10 10 % 10 x 10 x 10 x 10 d) 6(—10)(~10)(~10)(—10)(~10)
= -l = (-15)°
= o0 oo oo = —(boo o006
©) 3(=») (=) (-»)(-») q D 2(-)(-0)(-)
= 3(-%3 2
o = a(-b)
= 29 =-ab®
g) —(47)x2(4") - ((_[%) 2( 3) x-5(-3)
—10 (-3
= -2 (5 336)
= — (0 (-a43)
= — \3\ o
= J430o
) ey -3 (-2) S 20(-4) +(10(-4)) &ockff
5(-2)" )
_ lo (-
= S
=_3 =24
= a
1 5 [ 70(-2)° 3
) 23 <Lx D Doy = F(-2)
=Qx 129 = 3 (-%)
= & = -56
3. Evaluate using vour calculator
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- OO0 o~

[¥5]

a)—6(4)°

Evaluate using your calculator.

b)7 x 83

c)—4(-9)} d)—74
- - 6 (U6aR) =3xS = —q(-729 ——| x 240l
=-24 51  =3584 = 9qq, = - 240
4. Evaluate. Show your work.
a)(6+3)2-21 = 91-— 2 ne-52 = 3b—-as
= Kl -2l =
= Lo
QL2+ (HAP-(F) = 1A + 16— —3F )5-4-2) = 138 — 4 (-64)
= 2%+aF = 1as8 +356
=485 = 3sl
0 0 -0 ’
I —§—3) pE=T=° o} =~

=0
5. Find the value of each expression. Show your work.

a) [(9- ()P + (=3 b)12-3(4%)

- WY R = 12- 30)
_ =t -4u

= \2\ Al = —aL

= qy

€) 36— 52+ (43-67) d)— (=32)+ (-9)?

=236—a%+ (L4-30) = — () + 8
= \| + 2% = 9 +sl
9 3x2 _qxg p(22x2°)
= 71 = Cga‘-\-s =9~1°
4 = |o4% S76
- @)
= &SX‘(
2°x2 o?q 3 '
g) (32)5 = —??z; h) (42) ><(43) 4 o
Ixd .
Ao = AT U[
39044 _ L( .‘-f”_;-
- L{b+l2_ (_/’6
= 4'% - q‘b
=4 = 16
N rh — 7.\

DA
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3 -3(19)
< 4

k10°+10° (000 - 000

2L OO0

m) (5 x 3)* =|6L
=238

o)ﬂ

(-3
(-3)’

= (-3

—
-—

q)

1

e

143
= d(a)

1) (10+ 10)3
(20) = Q0O

n) 5% x 32
—95x9
LS

p) (<2)° (4)'(=2) (4)

= C'D\\&{-S L‘{\o{-(

= (D (D
A56 X¢

(024

—

() =@

- )

:-—35

1) (=6)" x6+(—6) +(—6)"

Axo + (-6)S™*
3

=216 + (-6)

=l + ~2aU6

=0

s)(_z)(J—;()_z)2 A Usfioeﬁ:\:ﬁ“& 1) 12° +£llzi><12')212i X
—-32 + 4 Lor PACYY =& 5 R°~ 1
— <10 =t
_ —2ag =1aF =
- - 12°7°
= } - IQD — /
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